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§ Warm-­‐up,	
  pencil,	
  paper	
  (for	
  each	
  student)	
  
§ Document	
  camera	
  
§ Chart	
  paper,	
  pens	
  
§ Painter’s	
  Tape	
  
§ Index	
  cards	
  

&
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§ The	
  relationship	
  between	
  repeated	
  addition	
  and	
  multiplication.	
  
§ The	
  inverse	
  relationship	
  between	
  multiplication	
  and	
  division.	
  
§ The	
  use	
  of	
  ratio	
  language	
  to	
  describe	
  the	
  relationship	
  between	
  two	
  quantities.	
  
§ Moving	
  between	
  equivalent	
  fractions	
  and	
  decimals.	
  
§ Simplifying	
  fractions.	
  
§ Multiplying	
  by	
  “an	
  equivalent	
  form	
  of	
  one.”	
  
§ Review	
  of	
  division	
  rules.	
  

	
  

Q,?#>-)#"A/&
:#26,/	
  A	
  comparison	
  of	
  two	
  or	
  more	
  quantities.	
  
;"#?26,4/	
  a	
  comparison	
  of	
  two	
  quantities	
  using	
  division.	
  
7#"2&2,&C#"2/	
  a	
  relationship	
  where	
  the	
  two	
  terms,	
  if	
  added	
  together,	
  equal	
  the	
  whole.	
  
7#"2&2,&J3,)%/	
  a	
  relationship	
  with	
  two	
  terms,	
  where	
  the	
  first	
  term	
  is	
  a	
  part	
  of	
  the	
  second	
  term.	
  
5462&:#2%/	
  A	
  special	
  ratio	
  in	
  which	
  the	
  de
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&
=?26(62A&E4%/&1#2%"6#)./&Ratio/Fraction	
  cards,	
  T-­‐chart	
  worksheet,	
  poster	
  paper	
  or	
  white	
  board.	
  

Ø Ratio/Fraction	
  Cards	
  will	
  need	
  to	
  be	
  cut	
  out	
  before	
  the	
  lesson	
  (one	
  set	
  per	
  group	
  of	
  3).	
  
	
  
	
  	
  	
  	
  Introduce	
  the	
  vocabulary	
  words	
  “part-­‐to-­‐part”	
  and	
  “part-­‐to-­‐whole”.	
  	
  Using	
  a	
  document	
  
	
  	
  	
  	
  camera,	
  show	
  the	
  scenario	
  below,	
  and	
  then	
  give	
  an	
  example	
  of	
  each:	
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  Present	
  this	
  problem	
  to	
  the	
  class:	
  
	
  
&

	
  
	
  
	
  
	
  
	
  
=)),J&.2-$%42.&U&964-2%.&2,&?,9%&-C&J623&#&<",-C&.,)-26,4&2,&236.&C",>)%9D&&@3%4M&#)),J&
.2-$%42.&2,&?,9%&-C&#4$&.3#"%&23%6"&.,)-26,4.M&"6<32&,"&J",4<M&-.64<&23%&$,?-9%42&?#9%"#D&&
S6.?-..&23%&?,""%?2&#4.J%"&G>%),JHM&#4$&.3,J&,23%"&9%23,$.&B,"&.,)(64<D&
&
One	
  way	
  to	
  solve	
  this	
  problem	
  is	
  to	
  start	
  by	
  finding	
  the	
  -462&"#2%D	
  	
  	
  
	
  
*A	
  unit	
  rate	
  is	
  a	
  special	
  ratio	
  in	
  which	
  the	
  denominator	
  or	
  second	
  term	
  is	
  1.	
  	
  	
  
	
  
To	
  find	
  a	
  unit	
  rate,	
  decide	
  which	
  term	
  you	
  would	
  like	
  to	
  solve	
  for.	
  	
  In	
  this	
  problem,	
  we	
  want	
  to	
  
know	
  how	
  much	
  money	
  Natasha	
  earns	
  in	
  one	
  hour.	
  	
  Therefore,	
  we	
  should	
  create	
  a	
  ratio	
  with	
  
“hours”	
  as	
  the	
  denominator,	
  and	
  divide.	
  
	
  
!"#$%
!!"#$

=    !".!"
!
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&
Another&way	
  to	
  find	
  the	
  answer	
  is	
  to	
  start	
  with	
  the	
  unit	
  rate,	
  and	
  multiply	
  by	
  the	
  number	
  of	
  
hours.	
  	
  A	
  table	
  can	
  be	
  used	
  to	
  keep	
  the	
  information	
  organized.	
  
&
&

@,2#)&7#A& V,-".&
$8.50	
   1	
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When	
  you	
  have	
  finished	
  the	
  discussion	
  ask	
  your	
  groups	
  to	
  find	
  “What	
  would	
  the	
  unit	
  rate	
  be	
  for	
  
lemonade	
  to	
  raspberry	
  juice?”	
  
	
  
lemon	
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                            Warm-Up 
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Name_____________________________	
  
	
  
	
  
3.)	
  	
  The	
  local	
  health	
  food	
  store’s	
  juice	
  bar	
  has	
  36	
  bottles	
  of	
  fruit	
  juice.	
  If	
  the	
  owner	
  wants	
  a	
  ratio	
  
	
  	
  	
  	
  	
  	
  	
  of	
  1:4;	
  vegetable	
  juice	
  to	
  fruit	
  juice,	
  how	
  many	
  bottles	
  of	
  vegetable	
  juice	
  will	
  he	
  need	
  to	
  add	
  
	
  	
  	
  	
  	
  	
  	
  to	
  his	
  inventory?	
  What	
  if	
  he	
  adds	
  18	
  new	
  fruit	
  juices	
  to	
  his	
  juice	
  bar?	
  Justify	
  your	
  answer	
  
	
  	
  	
  	
  	
  	
  	
  with	
  a	
  table	
  and	
  a	
  double	
  line	
  graph.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
4.)	
  	
  Mariana	
  counted	
  42	
  pairs	
  of	
  pants,	
  and	
  126	
  tops	
  in	
  her	
  closet.	
  What	
  is	
  the	
  ratio	
  of	
  tops	
  to	
  	
  
	
  	
  	
  	
  	
  	
  	
  pants?	
  She	
  gave	
  away	
  14	
  pairs	
  of	
  pants	
  to	
  charity,	
  if	
  she	
  wants	
  to	
  keep	
  the	
  same	
  ratio	
  of	
  	
  
	
  	
  	
  	
  	
  	
  	
  pants	
  to	
  tops,	
  how	
  many	
  tops	
  will	
  she	
  need	
  to	
  give	
  away	
  to	
  charity?	
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Ratio	
  Word	
  Problems	
  

	
  
Directions:	
  Use	
  tables	
  and	
  double	
  number	
  lines	
  to	
  find	
  the	
  unit	
  rate	
  for	
  each	
  situation	
  and	
  solve	
  
these	
  problems.	
  
	
  
	
  
1.)	
  	
  Gustavo	
  runs	
  14	
  miles	
  in	
  42	
  minutes.	
  At	
  this	
  rate,	
  how	
  far	
  will	
  he	
  travel	
  in	
  1	
  hour?	
  How	
  	
  
	
  	
  	
  	
  	
  	
  	
  many	
  miles	
  does	
  he	
  run	
  in	
  1	
  minute?	
  
	
  
            14 = 2×7              42 = 2×3×7 ∴ 14,



 Page 14 of 16 MCC@WCCUSD  07/24/15 

&
V,9%J,"a&#4.J%".&
	
  
3.)	
  	
  The	
  local	
  health	
  food	
  store’s	
  juice	
  bar	
  has	
  36	
  bottles	
  of	
  fruit	
  juice.	
  If	
  the	
  owner	
  wants	
  a	
  ratio	
  	
  
	
  	
  	
  	
  	
  	
  	
  of	
  4:1;	
  vegetable	
  juice	
  to	
  fruit	
  juice,	
  how	
  many	
  vegetable	
  juices	
  will	
  he	
  need	
  to	
  add	
  to	
  his	
  
	
  	
  	
  	
  	
  	
  	
  inventory?	
  What	
  if	
  he	
  adds	
  18	
  new	
  fruit	
  juices	
  to	
  his	
  juice	
  bar?	
  Justify	
  your	
  answer	
  with	
  a	
  	
  
	
  	
  	
  	
  	
  	
  	
  table	
  and	
  a	
  double	
  line	
  graph.	
  
	
  
	
  

Vegetable	
  
juice	
  

	
  
4	
  	
  	
  

	
  
144	
  

	
  
216	
  

Fruit	
  	
  
juice	
  

	
  
1	
  

	
  
36	
  

	
  
54	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  The	
  owner	
  will	
  need	
  to	
  add	
  144	
  bottles	
  of	
  fruit	
  juice	
  to	
  his	
  inventory.	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  4(36 + 18)	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  =	
  4(54)	
  
	
  	
  	
  	
  	
  	
  	
  = 216	
  bottles	
  of	
  vegetable	
  juice	
  will	
  be	
  needed	
  if	
  he	
  adds	
  18	
  more	
  bottles	
  of	
  fruit	
  juice.	
  
	
  

	
  	
  	
  	
  	
  vegetable	
  juice	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  4	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  144	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  216	
  
	
  
	
  	
  	
  	
  	
  fruit	
  juice	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  36	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  54	
  
	
  
	
  

4.)	
  	
  Mariana	
  counted	
  42	
  pairs	
  of	
  pants,	
  and	
  126	
  tops	
  in	
  her	
  closet.	
  What	
  is	
  the	
  ratio	
  of	
  tops	
  to	
  	
  
	
  	
  	
  	
  	
  	
  	
  pants?	
  She	
  gave	
  away	
  14	
  pairs	
  of	
  pants	
  to	
  charity,	
  if	
  she	
  wants	
  to	
  keep	
  the	
  same	
  ratio	
  of	
  	
  
	
  	
  	
  	
  	
  	
  	
  pants	
  to	
  tops,	
  how	
  many	
  tops	
  will	
  she	
  need	
  to	
  give	
  away	
  to	
  charity?	
  
	
  

	
  	
  	
  	
  	
  	
  	
  126 = 2×3×3×7	
  	
  	
  	
  42 = 2×3×7        	
  	
  	
  	
  	
  
!"#÷!"
!"÷!"

= !
!
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ∴ Mariana  has  !"#$$  times  as  !"#$  tops  as  !"#  has  pants.	
  
	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  42 − 14 = 28	
  pants	
  	
  and	
  	
  	
  	
  	
  	
  28×3 = 84	
  tops	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  126 − 84 = 42	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  ∴	
  Mariana	
  gives	
  away	
  42	
  tops	
  to	
  keep	
  the	
  same	
  ratio.	
  

	
  
	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  tops	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  3	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  84	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  126	
  	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  pants	
  
	
  

tops	
   3	
   84	
   126	
  
pants	
   1	
   28	
   42	
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